
IF Istruzioni per montaggio

Assembling instructionsMontageanleitungDE GB

Notice de montage

2/31/11



A

3/12

NB!

B

NB!

2/11



 60 min

1 2006x145x40 x2

2 2006x145x20 x1

3 2006x115x20 x1

4 833x145x20 x2

5 802x145x20 x2

6 802x145x20 x2

7 802x115x20 x1

8 802x115x20 x1

9 1744x90x38 x1

10 1744x90x38 x1

11 1744x90x38 x1

12 1744x90x38 x1

13 1720x90x20 x2

14 360x68x25 x3

15 360x68x25 x2

16 858x625x16 x1

17 957x348x16 x1

18 699x221x16 x1

19 901x218x16 x2

20 310x60x15 x2

21 865x85x15 x1

22 320x80x15 x1

23 320x80x15 x1

24 800x80x15 x1

25 810x314x3 x1

26 895x90x17 x13

4/12 3/11



5/12

A 10x40 x48

B 6,3x70 x4

C 6,3x80 x2

D M6x75 x4

E M6x10x13 x4

F 15x12 x4

G 7x34 x4

H 7x60 x4

J D35 x4

A1 8x30 x14

F 15x12 x7

G 7x34 x7

D1 3,5x35 x2

E1 5x38 x3

A 10x40 x48

A1 8x30 x6

N 7x24 x2

R 12x10 x2

D1 3,5x35 x4

S 9x5,8x6,5 x4

T 4,5x30 x2

K 7x50 x20

L 55x12,5x5 x6

M 3,5x40 x26

P D15x18x3 x4

Z D35 x4

X D4x13 x20

Y D15 x10

GLUE x1

4mm x1

F1 D4x17 x4

G1 D8x13 x6

H1 21x21x16 x3

J1 3,5x15 x6

Q D12x2 x1

U 310mm x2

V M4x12 x2

GLUE x1

GLUE

GLUE

1

GLUE

2xA

GLUE

GLUE

GLUE

GLUEGLUE

1 32x2

2x4

2x 65
2x

7

3xA
2xA A3x

A

A

2x

A

2x

A

A

3x
A

2xA

2xA

A2x

3xA

2xA

8

GLUE

GLUE

4/11



Z

J

Z

Z 6
5

712

11

F

F

J

J
NB!

A
6

5

8

Z
10

9

J

J

F

F

Z

NB!

GLUE

GLUE

GLUE

GLUE

GLUE

4mm

F

GLUE

GLUE

GLUE

4mm

G

G
 3

5 
m

m
 

J

12

1110

9

F 15x12 x4

J D35 x4

G 7x34 x4

H 7x60 x4

Z D35 x4

6/12

H
G

H

G
G

H

H

2

3

5/11



4mm

E D
Y

E

4mm

Y

D

D

1 Y

Y

Y
Y

Y

Y

11
B

D

C

D

B

E

E
3

1
2 9

7/12

C

4

5

Y

B 6,3x70 x2

C 6,3x80 x2

D M6x75 x2

E M6x10x13 x2

D M6x75 x2

E M6x10x13 x2Y D15 X8

6/11



GLUE

N

6x

17
16

G1
H1

J1
H1
J1

G1

2xN

F

8

9

2xA1

A B

G1 D8x13 x6

H1 21x21x16 x2

J1 3,5x15 x2

A1 8x30 x14

G 7x34 x7

F 15x12 x2

N 7x24 x2

8/12

A1

16
17

4x
A12x

A12x

192x

6

7

G

16

2x

14
18

3x

G

2x
G

16

17
F

F

A

7/11



U

S

S

GLUE

GLUE

GLUE
U

S

D1 3,5x35 x4

1110

U 310 mm x2

S 9x5,8x6,5 x4

K 7x50 x20

X D4x13 x20

12 13

14

S

A1 8x30 x6

2xX

2xD1

2xD1

8/12

A12x

A12x

A12x

S S

X 13

13

14

15
15

14
14

2x

K

NB!

2x2xX

K2x

K2x

K2x

K2x

K2x

K2x

K2x

K2x

K2x

X2x

X2x

X2x

X2x

X2x

X2x

X2x

4mm

8/11



21x21x16 x1

4,5x30T

16

H1

x2

15

x23,5x35D1 x43,5x15J1

F 15x12 x2

E1 5x38 x3

R 12x10 x2

10/12

E1

J1

J1
H1

J1

D1

D1

J1

2x

2x

E12x

E1

R20

T

F

2x

T

20

19

FR

19
2x

20 F

E1

9/11



F1

19
19

F1 F1

F F
F

F1

11/12

F 15x12 x3

17

F1 D4x17 x4
18

L 55x12,5x5 x2

L

4mm

LL

F1
F

F1

10/11



12/12

B 6,3x70 x2

L 55x12,5x5 x4

Y D15 x2

M 3,5x40 x26

19

20

P D15x18x3 x4

Q D12x2 x1

4

4

V M4x12 x2

M

P

V

4mm

P

P

P
P

M26x

Q

V

L

B

B

L

V

Y

2x
2x

Y
2xL

Q

11/11



8

1

2

3
4

10

9

9

7

13

6
7

11

12

5

14

 50 min

A 10x40 x18

B 7x50 x6

C 7x60 x4

D 5x38 x24

E 5x50 x2

F D19x6 x2

G D19x16 x2

H D6x70 x2

J D26 x2

K 3,5x16 x9

L D4x13 x6

4mm x1

x1

1/5



6

2x5
GLUE

1

4

A 10x40 x18

C 7x60 x2

C 7x60 x2

2/5

C

10
8

C
89

9

C

C

7

7

C

7
C

2

3

2xA A

A2x

A

864

A

4x

A2x

2xA

GLUE

4mm

4mm



3/5

10xD

5

7

B 7x50 x3

G D19x16 x2

H D6x70 x2

D 5x38 x10

B 7x50 x3

13

6x11

H

G

B

4

5

5

1

B B

B

B

H

3

2
B

H
G

G

G

H

6

4mm

4mm



8

9

D 5x38 x10

K 3,5x16 x5

J D26 x2

K 3,5x16 x4

E 5x50 x2

F D19x6 x2D 5x38 x4

4/5

E

2xK

J

12
5x

D10x

K5x

14

10

2x

J

J

K

2xK

14

K

D F

D

F

F
D E

E
D D

12



5/5

11

L D4x13 x6

L

L

L

L

L

L

L




